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Ch. 5 - WS #1

Plot each point.  Put the letter next to the point

1)  

  

L(−9, −4)

  

I(0, −6)

  

F(8, 2)

  

C(4, −7)

     

  

K(4, 2)

  

H(−9, 9)

  

E(7, 3)

     

  

J(4, −2)

  

G(−5, −3)

  

D(10, 0)
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2)  

  

B(6, 1)

  

E(8, −8)

  

H(−4, −8)

  

K(8, 8)

     

  

C(2, 4)

  

F(2, −7)

  

I(4, 8)

     

  

D(−9, −4)

  

G(−3, 6)

  

J(5, 7)
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State the coordinates of each point.

3)  
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4)  
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State the quadrant or axis that each point lies in.

5)  

  

V(−10, −5)

  

S(3, 9)
     

  

U(8, −6)

  

R(0, 6)
     

  

T (1, −4) 6)  

  

B(−2, 8)

  

E(7, 0)
     

  

C(3, 8)

  

F(−1, 6)
     

  

D(−8, −6)

7)  

  

Q(−9, −6)

  

T (−4, 8)
     

  

R(6, 9)

  

U(8, −8)
     

  

S(2, −7) 8)  

  

I(−2, 7)

  

L(4, 3)
     

  

J(3, 8)

  

M (4, 4)
     

  

K(5, 3)

9)  

  

J(9, 1)

  

G(−9, −2)
     

  

I(3, −9)

  

F(2, 5)
     

  

H(−8, −1) 10)  

  

S(−5, 0)

  

V(−3, 4)
     

  

T (−6, 10)

  

W(10, 1)
     

  

U(1, 9)

State the Domain and the Range of each set of ordered pairs.

11)  

  

F(5, 6)     

  

G(−6, −7)     

  

H(−7, −8)
 

 Domain:___________________________________

 

 

Range:____________________________________

12)  

  

C(2, −1)  

  

F(−6, 7)     

  

D(−7, −4)   

  

G(−7, −1)     

  

E(5, −3)
 

 Domain:____________________________

 

 

Range:_____________________________

13)  

  

C(−7, −8)

  

F(−5, −2)

  

I(8, −2)

  

L(10, −1)  

  

D(−3, 1)

  

G(−10, −8)

  

J(−6, 3) 

  

E(−1, −8)

  

H(4, 6)

  

K(7, 8)
 

 

Domain:____________________________________

 

Range:____________________________________
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